Muon channel

Sample 3 2j 4
tW 26083 + 62 29814 + 66 10612 + 40
tt 274100 =360 198120 =300 186200 + 300
Wjets 79500 41200 319800 + 3200 18000 + 480
QCD multijet 66830 =360 277610 + 940 7700 + 110
Single t 15786 £ 55 55250 4+ 100 4124 £ 28
Z+jets 7290 4+ 500 26950 4960 2080 + 240
\AY 2860 £ 160 7480 £+ 250 754 + 83
Total prediction 472500 42700 915000 + 5800 229400 + 1300
Data 472540 923880 223720
Sample Electron channel

3 2j 4
tW 15726 + 35 17479 + 36 6596 + 23
tt 156050 £200 109980 160 108410 4+ 160
Wjets 50230 =670 192400 +£1800 12090 + 310
QCD multijet 21120 4+ 410 87880 4+ 680 2370 £ 79
Single t 8937 + 30 30335 + 54 2379 + 15
Z+jets 6960 + 300 24170 4+ 590 1840 + 140
\AY 1635 4 84 4050 £ 130 463 1 44
Total prediction 260700 1700 466300 4+ 3500 134000 + 780
Data 270330 462940 136190



